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o212l fied =z =2 FHIZSAHL=30m) 18,000
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O2=3e| 245t HHIS AHL=30m) 18,000
Ogtd1el =2 HIZ AHL=100m) 18,000
Ogt-ze] OHSIIBFAIE ZHISAH1A!) 10,000
Ogra2e] N HHISAHL=15m) 12,000
O&4Me| sZEEIAHL=60m) 18,000
O=412| tH+=2FHIZ AHL=150m) 21,000
O=2412] =2 S AHL=150m) 28,000
O=42e| 0222 otA R I AHL=300m) 18,000
O=s4dzel N (&F)ZHI3AHL=70m) 28,000
2R FAas FA(22Y) 34,433 17,7% 16,677
101 @12A4H| 17,333 3,156 14,177
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O=dLRZd Jt3J| ofY
80,2403 102 #4323 3,210
O=2dLfd nEsSH 22 14,123
-Ee22 80,2402 x102+6% 4,012
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201 fet=23y| 8,100 9,600 1,500
02 S3=gHl 8,100 9,600 21,500
O2dURd sS4 IS
175,000« 128 2,100
O2dURd 2H0IstE4 AX= 6,000
206 M=l 4,000 5,000 21,000
01 MZH| 4,000 5,000 21,000
Oo2d¢Ued JtJ| M2 4,000
401 AlZHIZ S 0HHI 5,000 5,000
01 AlZ2H| 5,000 5,000
o=dLesZ 3228 2= 2,000
O2dURNYZ HEBIINZS B 3,000
2s sAZe(E2EY) 73,000 58,200 14,800
201 er2 3| 42,000 37,200 4,800
2 352484l 42,000 37,200 4,800
OoJtzs &Ies 42,000
401 AIEHIX SO 31,000 21,000 10,000
01 Al&H| 31,000 21,000 10,000
sEtizs =AE=+ 21,000
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